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I v mwn: limitation of »”maw to cases of actual (not just potential) 131 ny’an
a  Excluded: any testimony about personal status (e.g. "% ,jn3, not a Yon)
i And:any testimony about another’s personal status
1 Implication: ¥"maw on behalf of another’s finances is valid
(a) Challenge: next nwn requires that the 0*7y hear the demand from the plaintiff
(b) Answer (5x1p®): only valid if the claimant is acting on behalf of the plaintiff
(i) Challenge; *y19m rule — we don’t write a nRw1n VW for mYv0N
(ii) Amnswer; that's only if the defendant denies his debt (plaintiff must face him)
ii ~ And:any cases where financial liability is trumped by greater punishment (e.g. 102 nX Nna/viR, my son wounded
me, 'a torched field on naw)
I Source for y”maw being limited to cases of 1391 ny»an (Xn12)
a YR ’9: parallel to 9”maw (v. 2) - use of multiple W’s (PRIR)
i Challenges: vv. 3, 4 have PRIR
1  Answers: v. 3 has no oath associated; v. 4 has 103 associated
(a) Challenge (851 92 737): v. 6 also has 8, an oath and no 1n>
(b) Answer: 9”maw is a more likely index than »”maw — due to Ronn::xoNN
(i) Retort: 212w is more likely, as both incur a nxron j17p
(if) Defense: 9”maw shares "Ronn” , 1, a claim, a denial and “the past” (i.e. not about the future)
(iii) Back: 2”y1aw is more likely, as it shares a nron 127p, 7111 1% and no wmn
1. Conclusion: 9”"maw has more points in common
b y™:v.5-n%n nnrY; only some of them are valid (j1n)
i Challenge: his determination seems arbitrary (why not flip what’s included and excluded?)
1 Answer: he’s building on 8™'s use of PRI®
2 Question: where do they differ?
(a) Suggesrtionl: whether ypap »1v are subject ("1 — yes; "1 exempts them from n>xn)
(b) Suggestion2 (to jr? “1who maintains that even 8”7exempts Y7 *79): 0P 1Y
¢ »pn:v. 1 allows for a case where 1°87 OR ny7’ alone would suffice > only minnn
i Seeing: he can testify that he saw the lender counting out money to the debtor
ii ~ Knowing: if the debtor admitted his debt in front of the witnesses
1 Suggestion (»an5 973): 3" rejects RNk "v’s ruling about circumstantial evidence re: crazed camel who kills
(a) And: he would judge similarly in homicide case like that told of now 12 pynw " (v. 7)
(b) Defense: he still wouldn’t allow for “seeing” alone to be sufficient in mwai
(i) Reason: need to know if victim was Jewish, not a namv
iii  Observation: »n" must hold that ©3p »7y are not subject to y"Mmaw, as (e.g. in case of o) they must know if she was a
n%n1 etc. — and 7°R7 alone can never be enough
iv  Entrance exam (777> 270f X3mpin *): if witnesses see A counting out money to B — n7a»n?
1 Question: what is the recipient’s claim?
(a) If: he claims that he never got the money — he is a liar (and the giver is Y011 yaw)
(b) If: he claims that he was receiving his own money, their testimony won’t help - they are 710a (accepted!)
2 Related case: A claimed he gave money in place X; B denied he wasn’t there; 01y testified that he urinated there
(@) 9™ -heisa liar
(b) 1" — (this is the way the Sassanians rule) — he didn’t say he was never there! (>not a liar)
3 Alternate version: B claimed he had never been there, but n»y testified that he urinated there
(@) 57 -heisaliar
(b) (2795) X271 people don’t remember something so insignificant (nanwn) = not a liar
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d w77 simple comparison with 9”maw — just as that is only 13m0 ny’an, similarly »”naw is only pnn
i And:yv'p from 9”maw, where the class of persons and circumstances is larger and it only involves nn
1  Block: in a”maw, yawimn~=yawi and Tm~=v
2 Defense: Ronn::xonn (vv. 1,2) connects 9”maw to »”maw limiting »”maw to nnn
ii  Reaction in »’&: they derided his exegesis
1  Question: what was the derision?
(a) Suggestion: the knock-down of the v/p
(i) Partl: 9”maw doesn’t equate yawin:;pawv), unlike mTy
1. But: what is w"’s source for ¥y *an yawi carrying any liability in »”maw? Must be from 8"maw
2. Therefore: just as he infers yaxy *an Yaw1 from 9”Maw, he can infer *INR *an yawmn from p”maw
3. Block: perhaps w™ infers 1y »an in »”maw via 1'p ; rather...
(if) Part2: 9”maw doesn’t equate aw:: 7, unlike Y"maw
1. But: the same omission (n%Y1) in »"nMaw holds for 8”mMaw (no "n%wn”) - should be Tm::3w there
2. Block (82177 77): perhaps w™ infers “xmw-only” from n%yn
3. And: that is the “derision” — he should’ve inferred from »”maw and included 1t

a.
b.

C.

d.

Challenge: n»’yn is a better index, as both are called n%yn (v. 2)

Retort: y"maw is a better index, Ronn::xvNN

Defense: n»yn shares these - is n%vn, applies to all people, liability generated by nxkin, must
bring a »12p 1299 (not 1Y), owes an extra wnmN and the 129p is an DWR

Response: p"naw shares these — Xvonn, is unrelated to 0'wTp, involves an oath, a claim and a de-
nial and PRIR

i.  Conclusion: n5>»n has more significant points in common

(b) Suggestion (97): since W™ has the w1 (of Ronn::xvonn) - why does he set up his own challenge of
9"mMaw~=y"maw by dint of yawi/yawin and mw/rm?
(i) Block: perhaps these challenges were raised before he utilized the w3 (as per the sequence in xn>1)
(ii) Retort: W™, even in conclusion, holds that 9”m2w doesn’t allow for 71t N79 (pre *r>R 71 R17's report)
1. Meaning: even after the w1, he doesn’t allow for mw> 1m
2. Defense: perhaps he only accepts that distinction, but not yawiy/yawin

a.
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Challenge: if so, he should infer »”maw from 9”maw (which was inferred, in turn, from n%yn)
i.  And: conclude that even in »"maw, no 127 n193 for Tm

ii. Answer: that's why the nmin wrote »”maw with nrmvon my*m and 21w

iii. Explanation: by its contextually glaring omission of oY1 > even P is > 129p 27N
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